THAFEEIREEREMENEFEARESRLSFRE

SH4E8H9H
F1HFEILEH F2HFEILEH
et | i EFRRE FEDIELE MIEY |HEFH# — — )
+ 3 i HE-EFHKE | XENREHE HE-EFHEKE | XEMRAEHE |
N 2LDK 4 1 1 1 1
e m| diRX £654EF=E BT 3LDK 2 1 1 0
— R FE=E 2LDK 1 2 2 0
, = 3LDK 5 0 0
k| BB ganE BRES
—fiREE 3LDK 18 1 1 0
& R 2RI CER) B’hiE=E 2LDK 1 0 0
1] {2 = 2LDK 5 0 0
W& RokmD) | o1 om0 T
3LDK 4 0 0
= SaE=E BxE=E 2LDK 2 1 1 0
Al = H 1~35H# —fR1EE 3LDK 2 2 2 0
BhiE=E 2LDK 4 0 0
it = BEE 2LDK 4 0 0
8 FaRE — e
3LDK 8 0 0
2LDK 3 1 1 0
BREE
3LDK 1 0 0
+ HT BEE 5 £ (FEL 3LDK 1 0 0
S £5&F=E BREE(FEIY) o | 0 1 1
—fiR1EE
3LDK 7 0 1 1
3 = (E\ 3LDK 1 1 1 0
- P 1@9&&%(% 9)
—fiREE 3LDK 13 4 4 0
, = 3LDK 7 0 0
& ol Lt
—HiRFEE 3LDK 23 1 1 1 1
TE £S5 E —fiEE 2LDK 5 3 3 0
FETCER)
o FrIE —H&fEE 2LDK 1 0 2 2
= & 2E 1 (CF B)
(Rybkal) | FETERED
EJe —fiREE 3LDK 7 3 3 0
2;315;%[%@@
aitE -
B IR 41\7%}5 BriE=E 3LDK 4 0 0
LHETH TS 2%:'4%;; BEEE 2LDK 1 0 1 1
I iéﬁféggﬁg) BEEE 2LDK 1 1 1 0
( f'\tﬁ@l) 1~$3i1?6?%$§ BRiEE 2LDK 2 1 1 2 2
2LDK 4 1 1 0
RER S5 E BRE=E
3LDK 5 0 0
2LDK 1 3 3 0
EFRH S6EF=E BREE
3LDK 4 0 1 1
&t 152 27 27 10 10




